From post 16 lesson 5, the footnote from here:
http://www.sahab.net/forums/index.php?showtopic=113371
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And an intransitive' verb can be made transitive’, meaning that the action falls upon an
object, like in Allah's, The Most High's, saying (translated):

“When death came to Ya'qoob” (2:133)
“And I seek refuge with You, my Lord, lest they come near me” (23:98)

“And when the relatives....are present at the time of division...” (4:8)
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1 In the example: ‘“Zaid left”, the action did not happen to an object (i.e. it didn’t happen to a direct or
indirect object), the action happened to Zaid himself. He himself left. He did not leave
someone/something somewhere else (in which case the verb would need to be transitive). Example
from: https://sughayyirahbinaalafaal. wordpress.com/2011/09/30/binaa-al-afaal-1-yafulu/

2Meaning, the transitive verb causes something to happen to someone or something else, other than the
Doer of the action (Faa’il). In the example: “Zaid helped ‘Amr”, Zaid’s action did not fall upon
himself — it fell upon (or happened to) ‘Amr . Example from:

https://sughayyirahbinaalafaal. wordpress.com/2011/09/30/binaa-al-afaal-1-yafulu/




These are the ways to make the intransitive verb transitive
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Firstly: Hamza |
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Adding hamza (on alif) (to the beginning of the word) and it is called the Hamza of
transitivity. For example:
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I made Zaid laugh3
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Secondly: Adding a shaddah to the middle letter of the three letter root verb
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Doubling the middle root letter of the verb and from this is Allah's, The Most
High's, saying (translated),

3 i.S_?Jo is “I laughed”. Now if we add the Hamzah of transitivity to the beginning of the verb

(d=o ---> ol ) then we have i.S.&.oI which is “T made (someone) laugh”. See also 53:43-44
and pick out the four verbs that have this Hamzah of transitivity in them.



“And he is successful who purifies himself’ 91:9

and in the saying, “I made Zaid happy"4
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Thirdly, the addition of the Alif | of Interaction
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As in, “Zaid seated the Scholars’’,”The Scholar sat and I seated him”
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Fourthly, the addition of a harf of jarr
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Ibn Hishaam said, “It is also called the Moving Baa. And it is similar to Hamza in
changing the Doer to the Object. Most of the time it changes the intransitive verb
to transitive
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4 :,.:) is to be pleased (or happy) (also see 3:188).

Now if we double the middle letter ( &,9 ---> éj;) ) then we have éj.‘; which is to make someone
pleased or happy.



Like in the Allah's, The Most High's, statement (translated):
“Allah took away” their light” (2:17)
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And His, The Most High's, statement (translated):
“Shake towards yourself the trunk of the date-palm” (19:25)
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Fifthly, adding Hamza |, Seen o+, and Taa < - ol
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Like in the statement:

“Zaid extracted® the wealth”
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Sixthly: a Grammatical Conveyance
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5 &5 is normally intransitive, for example:

Jol> Ldd Haamid went.
But the baa turned it into a transitive verb (verb where the action falls upon other than the doer)

6 g>> is an intransitive verb like w.d3:
L) &> Zaid left. Adding the “ist” to the beginning of the verb made it transitive.
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This is when an intransitive verb takes a transitive meaning. Abu Hayyaan
mentioned that some of the Scholars of Grammar considered these types of verbs
transitive while others considered them intransitive due to common accepted usage.
For example:

“And do not consummate the marriage until the term prescribed is fulfilled.””
(2:235)

Here lgo =i (they decide) is given the meaning of 1994 (they intend), so it has
been made transitive
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Seventhly: the removal of a harf of jarr
Like the saying of the poet:

You passed the houses and didn't stop by, so your speaking to me is prohibited
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And the removal of a harf of jarr may be combined with the addition of &or &

7 Translation of this verse taken from www.thenoblequran.com




Like in the statement of Allah, The Most High (translated):
““ Allah (God) bears witness that none deserves to be worshiped except for Him”
(3:18)
And:
“Do you wonder that there has come to you a Reminder from your Lord?’*®
(7:63)
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Eighthly: changing the intransitive verb to the pattern of 3:0.; ;a.; for the

purpose of intensification

For example: I seated him (using &) (is changed to) I seated him (using 22
which is normally intransitive’ )
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The truth is that making a verb transitive is according to common, accepted usage. So
when it is commonly accepted that a verb becomes transitive when using a particular
harf, then it is not allowed to try and make it transitive with a different harf. And it is
not allowed to make a verb transitive using these (above) methods if they are not
commonly accepted for that verb.

8 Translation of this verse taken from: http://www.thenoblequran.com/sps/nbg/
9 For example see 9:46




